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Six people A, B, C, D, E, and F are sitting around a circular table facing outside. C is not
sitting second to the left of F. E sits third to the right of A. B sits third to the right of F. C
and A are not neighbors. B and A are neighbors.

B¢ 4fFd A, B,C, D, E3N FUH JaFR A & IRI AN dET A IR G F+
43 81 C,FF 9 ¥ qEY T 9T @l 4T 81 E,ASF g & Y ¥ 9¢ da1
gl B,FF g ¥ Y TUE qX o371 g1 C 3R A gkt s1gt &1 B 3ix A 9=t &
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B Who is sitting immediate right of F? '
—F A.B B.E C.A D.D E.Can’tbe
o \ /‘,_\\A determined
| :! Who is sitting third to the right of C?
\- gy A.A B.F C.E D.D E.Noneofthese
E ’ D
—— Who is sitting opposite to E?
J A.F B.A C.D D.B E.None ofthese

Who among the following are sitting opposite to
each other?
A.F,C B.C,AC.E,D D.F, B E. None of these

Find the odd one from the following.
A.B,DB.C,F CCA ED.FAE.AC
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‘training is always necessary’ is written as ‘god asb byo mnp’,

‘teacher perception always right’ is written as 'mnp den coh _
hen', 'teacher can stop training’ is written as ‘byo coh vyo rho’

‘stop bad perception necessary’ is written as ‘den puk asb vyo’.

‘hen god puk’ would mean? ‘teacher is always linguist’ would be written as
A. is right training B. bad is right A. god coh pa mnp

C. training is bad D. training right bad E. B. byo asb mnp coh

None of these C. mnp god coh vyo

D. god vyo den asb
E. None of these

Which word is represented by ‘byo’?
A. necessary B. stop
C. Training D. perception E. None of these
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7dA1TP, Q,R,S, T, VIRWaRHAIR A
MaRaF T emed g R3S &
I 4 sgfFa qdan 33 1 p qUaR &
e &ar ¥ p 3 Q e F F1E sh
afFdeTcAgiedrgl TR VEH &
A3 ARTSEC AR T, VR Il &

aaT¥ I W IRaR A e agr &ardl s
AT FA AT FA2 AT T &

7 people P, Q,R,S, T, V, and W give a test
starting from Monday to Sunday. 4 people
give the test between R and S. P gives the test
on Wednesday. No person gives the test
between P and Q. There are 3 people who
give the test between T and V. T gives the test
before V. W does not give the test on Sunday.
At least 2 people give the test before S.
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7 people P, Q,R,S, T, V, and W give a test
starting from Monday to Sunday. 4 people
give the test between R and S. P gives the test
on Wednesday. No person gives the test
between P and Q. There are 3 people who
give the test between T and V. T gives the test
before V. W does not give the test on Sunday.
At least 2 people give the test before S.
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How many people attempt the test after R?
Case—(2A) A.1 B.5 C.3 D. 4 E. None
Day Person
Monday T Who gives the test on Sunday?
Tuesday R A.P B.R C.S D.Q E.V
Wednesday | P Which of the following statement is false?
Thursday Q A. Q gives the test on Thursday.
Friday V B. P gives the test before S.
Saturday W C. Three people give the test between W and R.
Sunday S D. V gives the test after S.
E. All of the above are false.
W gives the test in which of the following days?
A. Monday B. Tuesday C. Thursday D. Friday E. Saturday
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How many pairs of letters are there in the word UNSETTLED, each of which has as many
letters between (in both forward and backward direction) them in the word as they have

between them in the English alphabet?

Qreg UNSETTLED # 38T & ¥ foraal s &, O/ & v+ & &g 3d« & 38R
g (3 3R g T et ) g & 3 guiATer & 3% g §72

A. One B. Two C. Three D. More than three E. None

it
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Statements: Statements:
All Bikes are Car Some Toffee are eclairs

All eclairs are dairy-milk.
Some Car are Truck Some dairy-milk are choc-bar.

CO"C|US'9"S: Conclusions:

I. Some B'ke_ are Truck I. At least some eclairs are dairy-

II. No Truck is Car milk.

A. Only conclusion I follow. II. No Toffee is choc-bar.

B. Neither conclusion I nor II follows. A. Only conclusion I follows.
C. Both conclusions I and II follow. B. Neither conclusion I nor II follows.

C. Both conclusions I and II follow.
D. Either conclusion I or II follows.
E. Only conclusion II follows.

D. Either conclusion I or II follows.
E. Only conclusion II follows.
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Statements: Statements:

Some box are Table Some Toffee are eclairs

No table is board. All eclairs are dairy-milk.

Some board are wall. Some dairy-milk are choc-bar.
Conclusions: Conclusions:

I. Some board are box. [. Some choc-bar being toffee is a
II. No box is board. possibility.

II. No Toffee is dairy-milk.
A. Only conclusion I follow.
B. Neither conclusion I nor II
follows.

A. Only conclusion I follow.
B. Neither conclusion I nor 11
follows.

C. Both conclusions I and II follow. C. Both conclusions I and II follow.
D. Either conclusion I or II follows. D. Either conclusion I or II follows.

E. Only conclusion II follows. E. Only conclusion II follows.

it


http://www.mahendras.org/

FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

Twelve people are sitting in two parallel rows
containing six people each, in such a way that there
is an equal distance between adjacent persons. In
row-1A, B, C, D, E and F are seated and all of them
are facing south. Inrow-2P,Q, R, S, Tand V are
seated and all of them are facing north. Therefore,
in the given seating arrangement each member
seated in a row faces another member of the other
row. V sits third to the right of S. S faces Fand F
does not sit at any of the extreme ends of the line.
D sits third to the right of C. R faces C. The one who
is facing E sits third to the right of P. B and P do not
sit at the extreme ends of the line. T is not an
immediate neighbour of V and A is not an
immediate neighbour of C. R does not sit at the
extreme end.

IRE SITFd &l GATATGR ITFddl H IAd A 8
qfoFd U YhR 96 & o 3Tt AfFaa) & i
FAT G 81 IfFa-1H A, B,C, D, EFRFISE
IR 3T FTAE AT Hr g1 9Fa-2 7 p,
Q, R, S, T 3R v T ¥ 3k 3 walt 1 o e Ay
MR §1 safoT, & a1 Sodh cTaTaT A T gfFd
A 43 T AF HE T FTHE gl 9fFd & 37
ASET FT I EIV, S &F & A 1Y AT W o7
g1 S T HW F Y 3T & 3R F, gfba & fraT sit
sifam e WA 3181 D, c FEF T MY
T W 3318 | R FTH@ C 1 30 81 98 foraa
HE E AT AR, 96 P H g & A TUTe a1
iy B 3R pufFa F A SR WAL ST T, v
FT fAsmeasd w1 7181 8 3 A, ¢ 1 faFean
garft 7 B, R AAfaF s wWadt dor d.
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Twelve people are sitting in two parallel rows
containing six people each, in such a way that
there is an equal distance between adjacent
persons. Inrow-1 A, B, C, D, E and F are seated
and all of them are facing south. In row-2 P, Q,
R, S, Tand V are seated and all of them are
facing north. Therefore, in the given seating
arrangement each member seated in a row
faces another member of the other row. V sits
third to the right of S. S faces F and F does not
sit at any of the extreme ends of the line. D sits
third to the right of C. R faces C. The one who
is facing E sits third to the right of P. B and P do
not sit at the extreme ends of the line. T is not
an immediate neighbour of V and A is not an
immediate neighbour of C. R does not sit at
the extreme end.
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Who amongst the following faces D?

1 ¢ D B 1; C E A AT B.P Cc.Q D.R E. None of these

Who amongst the following represent the people sitting at
the extreme ends of the rows?

& | I'F

- T I'PSRQWV A.R,F B.TTA C.D,R D.C,Q E.SA

Four of the following five are alike in a certain way and
thus form a group. Which is the one that does not belong
to that group?

A.B-T B.A-Q C.CS D.F-P E.D-R

Four of the following five are alike in a certain way and
thus form a group. Which is the one that does not belong
to that group?

A.D B.S C.Vv D.T E.A

How many persons are seated between R and T?
A. ONE B. TWO C. THREE D. FOUR E. None of these
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Eight friends, P, Q, R,S, T, Y, V, and W are
sitting around a square table in such a
way that four of them sit at four corners
of the square, while four sit in the middle
of each of the four sides. The ones who sit
at the four corners face the centre, while
those who sit in the middle of the sides
face outside. * P who faces the centre sits
third to the right of V. * T, who faces the
centre, is not an immediate neighbour of
V. * Only one person sits between V and
W. * S sits second to the right of Q, Q
faces the centre. * R is not an immediate
neighbour of P.

IS AT, P,Q,R,S,T,Y,V 3T WTH
FATHR AT F IRI ST TFR IS &
FIAA T IR TN F IRTFAT WIS
Sdfh IR TAF F AT A S5 T IR
qaT| IRI Flell 9T 434 aTell T AW gt
$IIIMTE, aaﬁ:aamaﬁa:a"ﬁr:ﬁréaﬁ
aTeil T AT R HTAMTE] * P, T
7@ g P I, V & g & hay vy
WS * T, S &g T I 3T @, V
Wﬁmmﬁﬁ%l * dhael Th
—qﬁ;rvaﬁtwa:a"l;r;"a—%rr%l *§ Q&
AL T T QHFTHAG
g?zgﬂaif%l * R, > o1 Breeas Tord
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Eight friends, P, Q, R, S, T, Y, V, and W are
sitting around a square table in such a
way that four of them sit at four corners
of the square, while four sit in the middle
of each of the four sides. The ones who sit
at the four corners face the centre, while
those who sit in the middle of the sides
face outside. * P who faces the centre sits
third to the right of V. * T, who faces the
centre, is not an immediate neighbour of
V. * Only one person sits between V and
W. * S sits second to the right of Q, Q
faces the centre. * R is not an immediate
neighbour of P.



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

n v ' Who sits second to the left of Q?
~ T s AV BP CT DY EW

What is the position of T with respect to V?

e - A. Fourth to the left B. Second to the left
j o | ) C. Third to the left D. Third to the right
a Vv . E. Second to the right
v

Four of the following five are alike in a certain way and so form
a group. Which is the one that does not belong to that group?
A.R BW C.V D.S E.Y

Which of the following will come in place of the question mark
(?) based upon the given seating arrangement? WP TR QW RS ?
A.YT B.VY C.vQ D.PY E.QV

Which of the following is true regarding R?

A. Ris an immediate neighbor of V B. R faces the centre
C. R sits exactly between Tand S D. Qsits third to left of R

E. None is true
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Eis 10 Km to the west of I. Cis 5 Km to the south of E. A is 15 km to the east of C. F is 10 km to the
west of H. B is 5 km to the west of A. His 5 km to the north of E. D is 15 km to the west of C. Gis 5 km

to the west of F EI?qﬁiﬁl’ﬁ'10fa~TFﬁ%lCE*SMW#%IAC?W&#15
P ¥ EHE T & 10 RFelt &1 B A% qR=T & 5 e &1 HEF 5 frelt 3a & ¥
D,CH URaA & 15 FAll 81 G,FF 5 fFAT qRIA A ¢

Which of the following are not sitting in a straight line?
A.HEC B.CBA C.IFC D.GFH E.DCB

What is the direction of G with respect to A?
A. South B. North C. North — West
D. South — West E. South — East

B is in which direction with respect to C and at what

distance?
A. 10 km, West B. 5 km, East C. 10km, East
D. 5 km, West E. none of the above
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SEEe

Six persons M, N, O, P, Q and R have different heights. N is taller than P. M is taller than R but shorter than

P. At least one person is shorter than R. The number of people taller than Q is same as shorter than 0. Q is

taller than M. 8 =IfFd M, N, O, P, Q 3T R&T AT HII-3749T g1 N,PH & 1 M, R oaT §,

?p%@m%u HH  FH U Jidd RY BT gl QF o« AN T F&I1 0/ &7 gl QM
ofdl &l

. How many persons are taller than Q?
A.0 B.1 C.2 D.3 E.4

Who among the following is the shortest in the
group?
A.O B.R C.P D. N E.Q

Who among the following is taller than N?
A.P B.R C.M D.Q E.O
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ATl TR "I 3TeT91-37el 9T Ql'é'ﬁ EITFﬁ e Sil Seven friends are visiting seven different cities
3v_c°f ﬁTI'GIT AHIEHY, ag@T3 3 31'3'#%3'1' namely, Jhansi, Delhi, Ooty, Shimla, Amritsar,
WE"TTEIWT?% aﬁmaﬁaﬁﬁ:gﬁrm Lucknow, and Bhuvneshwar but not

fl'é’fl grl'a"rsnﬁaraT—qﬁ-T-r qTGAS ST necessarily in the same order. The one who
grel Sgfd & & FYT 3T g1 IHTHT STet visits Jhansi is immediately above the one who
gre gt d 31X AT Siet aret Eﬂ'ﬁ-ﬂ' & visits Lucknow. There are only two persons
e had &l gfFd %I 3l ST Tl S Tohd between the one who visits Amritsar and the
HAJEHT a W%@'ﬁﬁ' HAEI AT ared one who visits Jhansi. The one who visits Ooty
qTed F 8F W gl g fRYFTIT STeY aTeY is above Amritsar but not immediately above
gfFd 3R FE I arel sFfFd & AT the one who visits Amritsar. Only three

had did ATFd & &1 ag AT ST persons are between the one who visits

HT:Iﬁ'QHT EI'IT-lT% a'g.'ﬂﬂmaﬁ dTel sIfod Shimla and the one who visits Ooty. The one
37 3 I %I el &1 T T arel 3R who visits Bhuvneshwar is immediately above
HT:Iﬁ'QHT SATa arel safFd & T hae T the one who visits Shimla. Only one person is
TIﬁ'T-I'%' there between the one who visits Delhi and
the one who visits Bhuvneshwar
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Seven friends are visiting seven different cities
namely, Jhansi, Delhi, Ooty, Shimla, Amritsar,
Lucknow, and Bhuvneshwar but not
necessarily in the same order. The one who
visits Jhansi is immediately above the one who
visits Lucknow. There are only two persons
between the one who visits Amritsar and the
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above
the one who visits Amritsar. Only three
persons are between the one who visits
Shimla and the one who visits Ooty. The one
who visits Bhuvneshwar is immediately above
the one who visits Shimla. Only one person is
there between the one who visits Delhi and
the one who visits Bhuvneshwar
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/. OOtV How many people are visiting between the one who visits
6. Delhi Ooty and the one who visits Bhuvneshwar?
. A. One B. Two C. Three D. Four E. None

3 Amritsar
4. Bhuvneshwar

: Which of the following city is visited immediately before
3. Shimla Delhi?
2. Jhansi A. Ooty B. Amritsar C. Delhi D. Bhuvneshwar E.

None

1 Lucknow

Which of the following cities are there between Jhansi
and Amritsar?

A. Shimla, Bhuvneshwar

B. Ooty, Shimla

C. Lucknow, Delhi ‘|
D. Lucknow, Ooty
E. None of these
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/ Ooty Which of the following condition is correct regarding Amritsar with

b. Delhi respect to Bhuvneshwar?

3 Amritear A. There is one city between Bhuvneshwar and the one who visits

Amritsar

4. Bhuvneshwar | B, Bhuvneshwar is immediately above the one who visits Amritsar

3, Shimla C. All the above are true

) Jhansi D. The one who visits Amritsar is the person immediately above
Bhuvneshwar s

L. Lucknow | E. None of these l— ]

AN

Which of the following cities is there exactly between Delhi and
Jhansi?

A. Amritsar B. Ooty C. Shimla D. Lucknow E. None of
these
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NKT BEA DNU ICN GLP

. If all the letters in the words are arranged in reverse alphabetical order and then after all the
word are arranged in alphabetical order from left to right, then which of the following word is 2

nd from the right end thus formed? Ife grecl & U HeWT H 3¢ TUITThA H cHaieyd
R Srar § 3R R @l ereal Y AIC ¥ G0 quitase ¥ swaftyd WA o ¥,
fefafld # & Fl @1 e g BR A g T W el 82

A. PLG B.UND C. TNK D. NIC E. None of these

In each word every consonant is changed to the previous letter in English alphabetical series
then how many words have at least single vowels? Icd& UAsc H Tcddh cdold &l Aol

w*mam#mﬁmm%,aﬁmﬁa@ﬁm#mww
?

A. One B. Two C. Three D. Four E. None of these
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NKT BEA DNU ICN GLP

In each of the word if we interchange the first letter with third, then the first letter with the
second one, then which of the following is the third word according to English dictionary

(answer in terms of original word)? gl eMec H Il gH Ugo 378 & day &, Y
Ugd & HI ¥ ggd &, a A AseAT F (AR mfaf@a & & Fia
|1 AT Asq § (3T H{A Asq & A H)?

A. NKT B. BEA C.DNU D.ICN E. None of these

If we interchange second letter with third and then first letter with third letter then what
will be the value if we add all the place values of first letter in each word thus formed?

afg & q@EY e A S F AR BT 9ga 31eW F1 A e § 9g & dr
YhR o Tcdd Use A Ugd 3EW & T TINT AT SS9 FAT AT {IEN?

A.30 B.35 C.40 D.45 E.None of these

=
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NKT BEA DNU ICN GLP

If we add all the letters place value in each word then which of the following word
number is completely divisible by 9?

Ifg &7 9 AF weg H welt anawt #1 Tunly A Sz & o Aewfaf@a #
¥ i A ereq WEAT 9 F qUI: fasnfara gef?

A. BEA B. NKT C. DNU D. ICN E. None of these

it
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